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Read the following text carefully, and then in yourANSWER BOOKLET

answer all the questions that follow it. Your answeshould be based on the
text.

When we talk about animal migration we mean the enmant of an animal from
the place where it has been living to a differdat@ and the return journey to tha
animal's original home. Most animal migrations r@@irrent events which happen g
certain times of the year. Animals usually migragefind food or to raiseheir
young.

Incredibly, most migrating animals follow the sammite every year and
from generation to generation. Land animals mag<mountains or forge rivers,
while birds and insects travel extensive distansesjetimes across continents anp
oceans. other sea creatures like fish and greyenhaly migrate half way round the
world. For example, the grey whale can travel ashras 20,000 kilometres.

Many animals migrate to northern regions duringrtbghern summer because
the long summer days mean that there is alwaysyptérfood. In the autumn, when
the weather gets colder, many animals migrate stuthnd food and warmer
weather (the southern summer). Some animals mignagey year, doing the two
journeys in one year, but others migrate only dytimeed to find food or for more
temperate weather.

Question Number One (20 points)

A.
1. Find a word in the first paragraph that medinst

(2 points)
2. Two kinds of sea creatures travel extensiveadcsgs. Write down these two kinds of gpa
creatures.

(4 points)
3. According to the text, the writer states thatreah migration is mainly affected by the
cold weather conditions. Explain this statemerdtifjying your answers.

(3 points)
4. What does the underlined pronotineir" in the first paragraph, refer to? p(nts
5. Animals usually migrate for many reasons. Wilbe/n two of them.

(4 points)

SEE PAGE TWO...



PAGE TWO

B- Critical Thinking (5 points)
1. Quote the sentence which indicates that mampaasimove to northern regions for
food.

(3 points)
2- Animals may face several risks during their ratgms every year. Think of this

statement and, in two sentences, write down yount pd view. Write down the answer in
your ANSWER BOOKLET.

Question Number Two (12 points)

A. Choose the suitable item from those given to cqtete each of the following sentencef
and write it down in your ANSWER BOOKLET. (8 points)

fraud, materials, famine, illegal , export

1- The economic situation in Ireland deteriorated kad to the potato

2. The word means the crimelging or cheating to get money.
3. Wood pulp, sugar , cloth are the that ba used to make paper.
4- Much of this destruction, which leaves the laingand dusty, is

B. Study the following dictionary entry and answerthe question that follows, then
write the answer in your ANSWER BOOKLET. (3 point)

1- We'vecome up againsterious problems in our plan to recycle rubbish.
- What does the underlined multi-part vedothe up against mean in this sentence?

C. Complete the following sentences with the suitédwords derived from the words in
brackets and write the answers down in your ANSWERBOOKLET. (4 points)

1- My weekly are twice as much as they wast year.
(earn, earnings, earned)

2- A huge earthquake caused the of San FBaadn 1906.
(destroy, destroying, destruction)

SEE PAGE THREE...




PAGE THREE
Question Number THREE (12 point$

A. Combine each pair of sentences below into one amngful sentence, using the give
words and phrases in the box bellow. Write the ansars down in your ANSWER
BOOKLET. (6 points)

1- We need to produce more food. There are morplp¢o feed.

In order to becaus:i

2- People can survive from death. Some people rfmyesener areas.

In order to lead to

B. Correct the verb between brackets, then write yar answer down in your ANSWER
BOOKLET. (6 points)

1- You look a bit tired. | am sure that you

2- In 1975, my family England on an aeroplajeave

3- By 10 p.m, the plane at the airpoland)

Question Number FOUR (8 points)

A. Complete the following mini-dialogue using an gpression that_expresses an agreein(
and write the answer in your ANSWER BOOKLET. (2 points)

Marwan:- | think that there should be new restrictions on traffic in our city.
Majidi-. e :

B. Write sentences which explain the possibilitiesf the following statements including
the modal verb phrases in the box. Write the answerin your ANSWER BOOKLET.
( 6 points)

must cant migh

1- The phone is ringing — it's probably your brathde usually rings at this time.

2- Sami passed the exam of Toefl. It is certainft he studied hard.

SEE PAGE FOUR..
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Question Number Five (15 points)

A. Free writing: (7 points)
In your ANSWER BOOKLET, write a composition of about 80 words on ONE
of the following.

1- Today, more and more people in Jordan are usinguters for activities at home, at
school or at work. Write an essay bout the advasagnd disadvantages of using
computer by the people.

2- The environmentalists persuade us to recycle ousdimold waste. Write a report fo
your school magazine about the problems of houkkvkaste, the kinds of household
waste that can be recycled, mentioning the advastafjrecycling waste.

B: EDITING: (4 points)

Imagine you are an editor in the Jordan Times, youare asked to edit the
following lines that have four mistakes. Find out hese four mistakes and
correct them. Write the correct answers down in youANSWER BOOKLET.

animal migrations are rekurrent events which hapgierertain times of the year, they
usually migrate to find food or to raiaed for more temberate weather.

C. GUIDED WRITING: (4 points)

Read the information in the table below, and thenn your ANSWER BOOKLET,
write two sentences about how to save forests. Usgpropriate liking words such as :
and, also, but

How to save Forests?
-avoid building residential areas.
-build parks for visitors.
-reduce cutting down trees.
-ban the criminals who cut trees.

Best Wishes

Ali Dagamsenh
077211111 6%wadall 38 50 s -dlac|
On Facebook
duwal®y o ) dutha
/https://www.facebookconvgroups/dagamseh
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Question Number One

summer days mean that there is always plenty af. foo
2- Animals face Many dangers during their migraterery year such cold weather afjd
diseases. Also, they may face hunters and wildfires

Question Number Two

1- famine 2- fraud 3- materials 4- illegal
B - to meet, face

C 1- earning 2- destruction

Question Number Three
A- Choose the suitable item from those given to cqrtete each of the following items
1- We need to produce more fobelcausahere are more people to feed.
Or - Becausethere are more people to feed, we need to prochace food
2- In order to survive from death, some people move to greermasar
Or -some people move to greener aneawrder to survive from death
B- 1- have been doing 2- left 3- had landed
Question Number Four:-
A- Yes, you're right

B- 1- It might be brother. He usually rings at this time.
2- Samimust have studiedhard.

Question Number Five (15 points)

FREE WRITING: ( 7 points)




B: EDITING: (4 points)
1- Animal 2- recurrent 3- raise 4- temperate

C. GUIDED WRITING: (4 points)

Firstly, there are many ways to save the fosash as avoiding building residential areag
and building parks for visitors.

- In addition, there are other ways to save thediike reducing cutting down treesd
banning the criminals who cut trees

Ali Dagamsenh
077211111 6%wadl) 38 90 Ao -d)3c)

On Facebook
dwaldy o M) Al

4o g gall ALY Adadi Jla A pladiay) JSa ) )




B. Study the following dictionary entry and answerthe question that follows, then
write the answer in your ANSWER BOOKLET. (3 point)

- What does the underlined multi-part vedothe up against mean in this sentence?
1- We'vecome up againsterious problems in our plan to recycle rubbish..

- to meet, face
- to reduce

C. Choose the best answer form of the word from ths® given to Till in the blanks and
write it down in your ANSWER BOOKLET. (4 points)
1-Massive actions took placstgeday after the match.
( chaos, chaotic , chaotically )
2-Your sudden defeat shouldn't .............. yaur confidence.
( destroy , destruction , destructive )
3. There are signs of improvement in the global
( economic , economy , economically)
4- The aim of this project is to people on the importance of plants.
( educate , education , educated)
Question Number THREE (12 points)
A. Correct the verb between brackets, then write yor answer down in your
BOOKLET. (6 points)
1- You look a bit tired. | am sure that you .............. for.long time (be, do)
2- In 1975, my family England on an aeroplafieave)
3- By 10 p.m, the plane at the airport. (land)

B. Choose the correct word from those given in braets to complete each of the following
sentences and write it down in your ANSWER BO®LET. (6 points)

1. In the future, sea levels will rise hetpolar ice is melting.

(so that, because, to)
2. Your friend said she would phone you, but stenitaYou are sure she has not
forgotten.

forgotten

( must have, can't have, might have)
3. On wet days the biomes are full visiteheltering from the rain.
(of, on, from)

4. The two girls have known each other theyravat a school.
( for, since, from)

5- The Eden Project is quite different a nalmuseum.
(in, for, from)
6. In the sentence, " They can't have finished tfhech already - they started eating fiv
minutes ago. The speaker is
(sure they didn’t finish, not sure they finishedre they finished)




Question Number FOUR (8 points)
A. Complete the following sentences so that the nesentence is similar in meaning to thi
one before it, then write it down in your ANSWER BOOKLET: (6 points)
1- Maryam can't go to her friend's part.
Maryam wishes she ..., :

2- I'm sure that bats aren’t birds — they don’t @deathers.
birds — they don’t have feathers.

3- Samer studied hard so that he can get good rmraBssglish Exam.
Samer studied hard in order

B. Study the following pairs of sentences and answihe questions below. Write the
answer in your ANSWER BOOKLET. (2 points)

Tamer:- | wish every country had a system like that.
Yahya:- | wish they wouldn't do that.
- Which sentence indicates that the speaker exggeasgicism / annoyance?

Question Number Five (15 points)

A: EDITING: (4 points)
Imagine you are an editor in the Jordan Times, yoare asked to edit the
following sentence that has three mistakes. Correthe mistakes.

animal ) migrations areekurrent ® events which happen at certain times of the yej
they usually migrate to find food or taize “ and for moréemberate® weather.

<Ll
Question Number Two

B - to meet, face
C 1- chaotic2- destroy 3- economy4- educate

Question Number Three
A- 1- have been doing 2-left 3- had landed
B- Choose the suitable item from those given to cqtete each of the following items
1- because2- can't haves- of 4- since 5-from 6-sure they didn’t finish
Question Number Four:-
A- 1- could go to her friend's part
2- can't be
3- to get good marks in English Exam.
B . Yahya- | wish they wouldn't do that.
Question Number Five (15 points)
A: EDITING: (4 points)
1- Animal 2- recurrent 3- raise 4- temperate

/https://www.facebookconm/groups/dagamseh
8
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Read the following text carefully, and then in yourANSWER BOOKLET answer all the
guestions that follow it. Your answer should be basd on the text.

The early 19th century, the most important industrireland was agriculture. B
the farmers were poor and they used old-fashionetthods. Because they heard that thjey
could earn four times as much in America, some éasnemigrated. But between 1820 ajpd
1840, the economic situation in Ireland deteriatadad in 1845 the Potato Famine begn.
Disease destroyed 75% of the year's potatoes- #ie food for most of the populatior.
During the next two years, 350,000 people diedtafvation and there was a huge increflse
in emigration to America. By the end of 1854, antgraof the population of Ireland had Ig
for the United States.

Tristan da Cunha is a small island in the SoutAttntic Ocean. In August 196
earth tremors started and gradually became mogedra. At the beginning of October, thje
government decided that the island was no longker @ad the whole population of 26
people was evacuated to a nearby island. A shigedithem up and toothem to South
Africa. As they passed Tristan da Cunha, they $smwblcano erupt. Later the people wefe
taken to England, where they stayed for the neaty®ars.

In 1963, the volcanic activity on the island steg@nd most of the people voted ffo
go back. However, not everyone returned: 14 pebpt adapted to life in England arjd
decided to stay there, and five elderly peoplediad.

The economic success of the 196k 1970s saw the Arabian Gulf countris
transformed into modern and wealthy states, funbigdoil and other precious naturdl
resources such as natural gas. The need of tlaaitonstruction industries led to a hupe
demand for skilled workers. Many thousands of peapbved to the region to help builf
high-tech cities all over the Gulf. These workérsm many regions of the world, were abje
to find a better life and help with the developmehthe region.

Question Number One ( 20 points)

A.
1- There are two things that the farmers sufferechfWrite them down?

(4 points)
2- There were three places that the people weredtwgradually. Mention them?

(4 points)
3-Quote the sentence which shows that there weng people died because of lack of food.

(3 points)
4-What does the underlined pronodnem" in the second paragraph, line 4, refer to? pd@ts)
5-Find a word in the last paragraph which méatie process of modernisation . (2 points)

SEE PAGE TWO..
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B.Critical Thinking (5 points)

1- According to the text, the writer says that Béple from Tristan da Cunha decided notfo
return to their island. Explain this statementtifygg your answer. (3 points)

2-

Irish people were feeling about a lot of thingsewlthey left Ireland for their new life in
America. Discuss this statement and write your paimt of view on two sentences. Write
down the answer in your ANSWER BOOKLET. (2 points)

Question Number Two (15 points)

A. Complete the following sentences with the suitdd words derived from the words in
brackets and write the answers down in your ANSWERBOOKLET. (4 points)

1- He left court a free man because he had prdwdce wasn't ........ guiltily )

2- During the trial that hold yesterday, The juaydshe was .......... ignocently).

B. Study the following dictionary entry and answerthe question that follows, then write
the answer in your ANSWER BOOKLET. (3 point)

- | heard this morningqut of the blue that I'd won a writing competition.

What does the underlined colour idiom mean?

C. Choose the suitable item from those given to cqiete each of the following sentencef
and write it down in your ANSWER BOOKLET. (8 points)

blue, waste, property, misuse, red

1- The price of ................ in the city has increasednaaéically this year

2- Last week, while | was walking | met Ahmad otittee..............

............... the equipmentt will not work properly.

................. Is made up of newspapers and magazined.

SEE PAGE THREE...
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Question Number Three (20 points)

A. Combine each pair of sentences below into one am@ngful sentence, using the give
words and phrases between brackets. Write the answe down in your ANSWER
BOOKLET.

(6 points)

1- The soil is destroyed. The land cannot be fislegrowing crops.

So that in order to
2- The soil becomes unproductive. Farmers tendéocaltivate their land.

cause of with the result that

B. Correct the verb between brackets, then write yar answer down in your
BOOKLET. (6 points)
1- Irish people emigrated because so many avbation.(die)

2- He had looked for work. Then yesterday he offered two jobs.l{e)

3- How long have you Hotel Managemerii&, (earn)

Question Number FOUR (8 points)
A. Complete the following mini-dialogue using an gxression that_expresses an opinign
and write the answer in your ANSWER BOOKLET. (2 points)

Saja:- | will never forget my visit to Petra last year.
NP2 7= :

B. Write sentences which explain the possibilitiesf the following statements including
the modal verb phrases in the box in your answer&Vrite the answers in your ANSWER
BOOKLET. ( 6 points)

might be  must have cant have
1- Someone waves to you from a car. It looks liganfriend’s father’s car.

2- Manal has worked very hard. You feel sure thatlsas got good grades in her
exams.

SEE PAGE FOUR..




PAGE FOUR

Question Number Five (15 points)

A: EDITING: (4 points)

Imagine you are an editor in the Jordan Times, youare asked to edit the
following lines that have four mistakes. Find out hese four mistakes and
correct them. Write the correct answers down in YouANSWER BOOKLET.

The Eden Project has fascinating interactive ixhilfor people of all ages. i
contains many thousands of exotec plants which grovparticular soel

B. GUIDED WRITING: (4 points)

Read the information in the table below then, in yar ANSWER BOOKLET, write
two sentences about the ways of losing your weigtdse appropriate liking words
such as : and, also, but

Ways of losing your weight
-drink 8 to 10 glasses of water.
-do exercises.
-use certain types vegetarian nutrition.
-reduce the amount of calories you eat.

C. Free writing: (7 points)

In your ANSWER BOOKLET, write a composition of about 80 words on ONE

of the following:
1- You and your classmates have gone in the sgbowoley every year to many places i
Jordan. Write a letter to the school magazine aboatof these visits, the place itself, th
weather conditions; what did you do and what yalisgie.
(Your nameNihad, your addres®.O Box 1646, Amman, Jordah

2- Today, more and more people in Jordan are wsingputers for activities at home, af
school or at work. Write a report for your scho@gazine bout the advantages and
disadvantages of using computer by the peoplegamdyour point of view.

Best Wishes
Ali Dagamseh
077211111 64wadal) 3dga Ao -alas)
e ) g Bl o giliil) Jd ala
https://www.facebookconvgroups/dagamseh
daldal) o Sy 4l
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Question Number One

A-

1- the farmers were poor and they used old-fashiometthods

2- a nearby island, Africa, England

3- During the next two years, 350,000 people diestafvation and there was a huge
increase in emigration to America.

4- the whole population of 268 people

5- development

B- 1- I think they might find new well-paid jobs in Hagd. Also, they might

adapt with new culture and language.

2- | think Irish people felt fear of the new lifa America, they afraid of new culturg].
Also, they felt sad because they left their homanty and their memories.

Question Number Two
A 1- guilty 2- innocent
B — unexpectedly, suddenly

C-
1- property 2- blue 3- misuse 4- waste

Question Number Three
A- Choose the suitable item from those given to cqrtete each of the following items
1- The soil is destroyesb thatthe land cannot be used for growing crops.

2- Farmers tend to overcultivate their landith the result that The soil becomes
unproductive),
B- 1- had died 2-was 3-been learning

Question Number Four:-
A: | think it is a beautiful place.

B- 1- It might be your friend’s father’s car.
2- Shemust havegot good grades in her exams. (must have)




Question Number Five (15 points)
A: EDITING: (4 points)
1- exhibits 2- It 3- exotic 4- soll

B. GUIDED WRITING: (4 points)

- Firstly, there are many ways of losing your weighch as drinking 8 to 10 glasses|pf
waterand doing exercises.

- In addition, there are other ways of losing yexightlike using certain types vegetarign
nutrition and reducing the amount of calories you eat

FREE WRITING: ( 7 points)

Best Wishes

Ali Dagamseh
077211111 64wadal) 3dga s -alas)
) g Bl e gl A st
https://www.facebookconvgroups/dagamseh
dwalBal) o i) ddl
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Read the following text carefully, and then in yourANSWER BOOKLET answer all the
guestions that follow it. Your answer should be basd on the text.

In 2003, 410,000 non-British citizens came to linghe UK and 100,000 British
people returned ttheir home country from Spain, Australia and other coaestwhere
they had gone to live or work. In the same peribt)),000 non-British citizens left the
UK to live in other countries. 190,000 British pé&oplso left. This means a total increasip
of 150,000 in the British population, but where ditithese immigrants come from ang
go to? Many new arrivals are economic migrants epfgewho come because they ca
earn more money in Britain than in their own coyntr

Traditionally, many of these migrants used to cdmen countries in Africa or
Asia, but now, growing numbers are from poorer ¢oes in Eastern Europe such as
Poland, Hungary or Russia. Many new migrants takepaid jobs which British people
do not want to do, like cleaning, picking fruit amelgetables, looking after old people o
doing repetitive factory work.

A minority come to work in well-paid jobs, for exahe as dentists or doctors.
Many of these migrants do not intend to stay irtd#m, and send some of their earning
home to their families. But even though they eaghér wages than they would in thei
own countries, most economic migrants can onlyrdfto live a simple life. Some share
accommodation with another migrant family.

British citizens who leave the UK to live abroad gminly to countries with
warmer climates and cheaper houses, countrieSpieen, Greece, France or Turkey.

Question Number One (20 points)

A.
1- Many migrants do some careers, mention two edetcareers. (4 points)

2. British citizens leave their home to other comst for two reasons. Write down thejfe
reasons. (4 points)

3. Quote the sentence which indicates that manyamig don’t want to live in Britain for
long time. (3 points)

4. Find a word in the second paragraph which meéaesy boring"? (2 points)

5. What does the underlined wottthéir" in first paragraph, refer to? (2 points)

SEE PAGE TWO...



PAGE TWO

B.Critical Thinking (5 points)
1- According to the text, the writer states thaingnmigrants face expensive life in
Britain. Explain this statement. Justify your anew8 points)
2- There are many reasons which make people ldsre tome countries. Think of
this statement and two sentences write down youmtpaf view.Write down the
answer in your ANSWER BOOKLET. (2 points)

Question Number Two (12 points)

A. Choose the suitable item from those given to cqutete each of the following sentencefp
and write it down in your ANSWER BOOKLET. (8 points)

creatures, ruler, devastating , reorganise, @ather

1- Farmers listen to the forecast to decidemwto harvest their crops.
2- As we have some new employees will have to our office.

3- I'm doing my maths homework - can | borrow yaour

4- Fish and other sea may migrate half wayhcbthe world.

B. Study the following dictionary entry and answerthe question that follows, then
write the answer in your ANSWER BOOKLET. (3 point)
8- Tarig has beegoing along with his project despite the current problems.

What does the underlined multi-part vedn'along with" mean in this sentence?

C. Complete the following sentences with the suitédwords derived from the words in
brackets and write the answers down in your ANSWERBOOKLET. (4 points)

1- The people of Tristan da Cunha left becauselfanic............... . &ct)

success of the 1960s and 1970s waketuhy oil.
(economy)

2




SEE PAGE THREE..
PAGE THREE

Question Number THREE (12 points)

A. Correct the verb between brackets, then write yor answer down in your
BOOKLET. (6 points)

1- Khalid recently from Yarmouk Univeng (graduate)

2- He had looked for work. Then yesterday he offered two jobs.l{e)
3- James was very nervous when he arrived at tperai because he never ....... :
before. {ly)

B. Combine each pair of sentences below into one arengful sentence, using the give
words and phrases between brackets. Write the answse down in your ANSWER
BOOKLET.

(6 points)

1- The rainforest has been cut down . Make moraléard.

with the result that in order

2- Farmers can grow more Soya beans. Farmers needliamd.

so that cause of

Question Number FOUR (8 points)

A. Write sentences which explain the possibilitiesf the following statements including
the modal verb phrases in the box in your answerdVrite the answers in your ANSWER
BOOKLET.

( 6 points)

must be cant be might be

1- Someone waves to you from a car. It looks liganfriend’s father’s car.

B. Complete the following mini-dialogue using an gxession that expresses past event
and write the answer in your ANSWER BOOKLET. (2 points)

Asma:- What did you do yesterday, Rashed?
Rashed:-......cooi i, :

3




SEE PAGE FOUR..

PAGE FOUR

Question Number Five (15 points)

A: EDITING: (4 points)

Imagine you are an editor in the Jordan Times, youare asked to edit the
following lines that have four mistakes._Find out hese four mistakes and
correct them. Write the correct answers down in YouANSWER BOOKLET.

Somefarmers enigrated. But between 1820 and 1840,dbeanik situation in Irelang
diterioratedand in 1845 the Potato Famebegan.

B. GUIDED WRITING: (4 points)

Read the information in the table below then, in yar ANSWER BOOKLET, write
two sentences about the following the causes of de#ication. Use appropriate liking
words such as : and, also, but..........

The causes of Desertification
-Farmers overgraze animals.
-Farmers cut down the trees.
-Farmers overcultivate their lands.

C. Free writing: (7 points)
In your ANSWER BOOKLET, write a composition of about 80 words on ONE
of the following.

1- You and your classmates have gone in the sgbowoley every year to many places i
Jordan. Write a letter to the school magazine aboatof these visits, the place itself, th
weather conditions; what did you do and what yalisgie.

(Your nameNihad, your addres®.O Box 1646, Amman, Jordah

2- Today, more and more people in Jordan are ugingputers for activities at home, a
school or at work. Write a report for your schoachgazine bout the advantages an
disadvantages of using computer by the peoplegawmdyour point of view.

Best Wishes

Ali Dagamseh
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Question Number One
A-
1- cleaning, picking fruit and vegetables, lookiafier old people or doing
repetitive factory work.
2- warmer climates and cheaper houses.
3- Many of these migrants do not intend to staRritain.
4- repetitive
5- 100,000 British people
6- | think this statement is true because most @con migrants can only afford
to live a simple life. Some share accommodatio artother migrant family.
B- | think this statement is true because many |eelgjave their home countries
for many reasons such as seeking a better lifecamgbleting their education.
Also, there are other reasons like finding bettbs;

Question Number Two

1- weather 2- reorganise 3- ruler 4- creatures
B - to continue, progress, accept

C 1- activity 2- economic

Question Number Three
A- 1- has graduated 2-was 3-had flown

B- Choose the suitable item from those given to cqtete each of the following items
1- The rainforest has been cut domrorder to make more farmland.

2- Farmers need more lasd thatthey can grow more Soya beans.

Question Number Four:-
1- It might be your friend’s father’s car.

2- Batscan't be birds — they don’t have feathers.
B. Rashed: | visited Wadi Araba last Friday.

5




Question Number Five (15 points)

A: EDITING: (4 points)
1- economic 2- emigrated 3- deteriorated 4- Famine

B. GUIDED WRITING: (4 points)

- Firstly, there are many causes of desertificatmnexample, the farmers overgraaed
they cut down trees.

- In addition, there are other causes of deseatibhco when the framers overcultivate thejir
lands.

FREE WRITING: ( 7 points)

Best Wishes



Ali Dagamseh
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e ) g Bl o giliil) Jd ala
https://www.facebookconvgroups/dagamseh
dwalBal) o i) ddl




&I 3 gal a1 Gaa ) A ) -
(5) ALy 2 (4) Olaia) Jaa clada aae 7
THE HASHEMITE KINGDOM OF JORDAN-MINISTRY OF EDUCATION .=
= ?f% Gl (o gl Jazaal) QKA gl 5y gal)

DATE: January, 20™ |, 2018 TIME: 1 HOUR AN D A HALF
Baoud SV g9 8)l gaox) aodiiol) (2) .a9,9)] 04D Aliswl gao> e Wl (1) tulbexlo

Read the following text carefully, and then in yourANSWER BOOKLET answer all the
guestions that follow it. Your answer should be basd on the text.

The rainforest of the Amazon region of Brazil inuBoAmerica covers five percent ¢
the world’s land surface and is home to at leagt@@ent of the world’s animals and planjs.
The area is also the home of 220,000 people frobndliBerent tribes who live deep in th
forest. The rainforest itself is an important eowiment but, because of its size and locatipn,
it also plays a vital part in controlling the woddtlimate. It does this by taking in carbg
dioxide and releasing oxygen.

Recently, however, large areas of the Amazon restchave been cut down to mafge
more land for farmers. In the last three years,efample, 70,000 square kilometres hejve
been destroyed — this is the same as six foothalhgs every minute. Much of thilf
destruction, which leaves the land dry and dustillagal.

Farmers use most of the new land to grow soya b&dneh they export to other par{g
of the world to be used as animal food. Millionscbickens in western European countri{es

into food for human consumption; many vegetariaodfoare based on soya beans.

Other areas of the rainforest are cleared by raschiko use the land feheir cattle,
by loggers who sell the valuable tropical hardwdmman the trees they cut down, or by cjl
companies who are trying to find more oil. Thesivaes help to improve the economy (|f
the region, but at the expense of the future ofgtbbal environment.

In addition to destroying ancient foseahd changing the world’s climate,
deforestation is having a devastating effect oivagtopulations who are dependent on thi
rainforest for everything they need, from food émals to medicines and shelter.

Question Number One ( 20 points)

A.

1- Rainforest plays a vital part in controlling twerld's climate in two ways. Write down these tjo
ways? (4 pointg

2- Native populations are dependent on the rainfdogst variety of needs. Write down four of th¢lse
needs? (4 points)

3- Quote the sentence which shows that some s@&ysslage used as food for human beings.

(3 points
4-What does the underlined pronouhnéir" in the forth paragraph, line 1, refer to? (2 points)
5-Find a word in the second paragraph which méagainst the law"

(2 point)

SEE PAGE TWO..



PAGE TWO

B.Critical Thinking (5 points)

1- According to the text, the writer thinks thastteying a large area of the Amazon forest is dle
Explain this statement, justifying your answer.(3 points)

2- Deforestation is harmful to people and climate.cDss this statement and write your own
point of view on two sentences. Write down the arsw your ANSWER BOOKLET.

Question Number Two (15 points)

A. Choose the suitable item from those given to cqtete each of the following sentencef
and write it down in your ANSWER BOOKLET. (8 points)

court, recurrent , display , precious, case

. Water is considered as the Earth's most ..................

. The word --------------- means 'show' or 'exhibrilo

. Most animal migrations are --------------- eventfiieh happen at certain times
of the year.

. Three men will appear in --------------- tomorrowaused of dangerous driving.

B. Study the following dictionary entry and answerthe question that follows, then write
the answer in your ANSWER BOOKLET. (3 point)

1- Secretaries used to spend most of theirtimag letters and reports.

What does the underlined word mean in this senfence

C. Complete the following sentences with the suitéddwords derived from the words in
brackets and write the answers down in your ANSWERBOOKLET. (4 points)

1. The patient's surgical operation was ................. donesuccessful

2. The burnt buildings are a .................. reminder of theaster. fermanence

SEE PAGE THREE...
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Question Number Three (20 points)

A. Correct the verb between brackets, then write yor answer down in your
BOOKLET. (6 points)

1. The students ------------=----- their lessonkday. pe , study)

2. Hatem felt nervous because he ------- nevet-----a car before.drive)
3. My sister ----------------recently -------------- from university. graduate)
B. Combine each pair of sentences below into one amngful sentence,_using the

suitable given words and phrases from the box beNwe. Write the answers down in your
ANSWER BOOKLET.

(6 points)

1- Students use mobile phones. Studentskeap in touch with their families.

In order to so that

2- The Amazon rainforest has an important effecttan climate. The Amazon rainforefpt
covers such a larae area.

because cause (

Question Number FOUR (8 points)

A. Write sentences which explain the possibilitiesf the following situations including
the suitable modal verb phrases in the box. Writehte answers in your ANSWER
BOOKLET. ( 6 points)

must be could b might be

1- Someone’s ringing your doorbell. You're surs ithe postman — he always comes
at this time.

2- You think the roads will probably be very busy.

ThE r0adS. ..o

B. Read the following mini-dialogue carefully, theranswer that follows, write the answe
in your ANSWER BOOKLET. (2 points)

Mustafa- | think that the air pollution will kill m illions of people.
Karam: | don’t agree with you.
What is the function of Karem's statement.

SEE PAGE FOUR..
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Question Number Five (15 points)

A: EDITING: (4 points)

Imagine you are an editor in the Jordan Times, youare asked to edit the
following lines that have four mistakes. Find out hese four mistakes and
correct them. Write the correct answers down in YouANSWER BOOKLET.

The trees' roots, trankdeaves, flowers, fruits and seedwe under constant
attack. also, some plants have sharp thurns.

B. GUIDED WRITING: (4 points)

Read the information in the table below then, in yar ANSWER BOOKLET, write
two sentences about why do animals usually migratélse appropriate liking words
such as : and, also, but

Why do animals usually migrate?
- find enough food.
- raise their young.
- find temperate weather.

C. Free writing: (7 points)

In your ANSWER BOOKLET, write a composition of about 80 words on ONE

of the following:
1- Forests are considered as the lungs of the wdftde a letter to the school magazine
about the importance of the forests, the reasodstlam effects of cutting down forests
and suggesting how to save these forests.
(Your nameNihad, your addres®.O Box 1646, Amman, Jordah

2- The Internet has become a very important soofcaformation in many
fields. Write a report for your school magazine w@bthe advantages and
disadvantages of the Internet, and suggesting adwvw to use internet wisely.

Best Wishes

Best Wishes
Ali Dagamseh
077211111 64wadal) 3dga Ao -alas)
e ) g Bl o giliil) Jd ala
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dwaldl) o i) 4tk




&) 73 gadl) Ala =

THE HASHEMITE KINGDOM OF JORDAN —-MINISTRY OF EDUCAT |ION 'k,,&,n&

o]

GENERAL SECONDARY CERTIFICATE EXAMINATION- 2015

GENERAL ENGLISH
3 sl fAgiuall 5 gl

Question Number One

A-

1- It does this by taking in carbon dioxide and rsieg@ oxygen..

2- food and tools to medicines and shelter..

3- Increasingly, some soya beans are also beingdunt@ food for human consumptio
many vegetarian foods are based on soya beans.

4- ranchers

5-illegal

areas dusty and dry, so that this destructiontuiti these areas into deserts.

2- Yes | totally agree, because when farmers cuindinees, there is nothing to stop wjind
to carry he dust to cities and people live therdhso people who live in cities will [pe

affected by asthma and lungs pains. Also, cuttiogidtrees will change the climdjte,
because trees take carbon and release oxygen.

Question Number Two

1- precious 2- display 3- recurrent 4- court
B — write using machine

C 1- successfully- permanent

Question Number Three
A- have been studying 2- had driven 3-has graduat
B-
1- Students use mobile phones in order to keepualt with their families.
2- The Amazon rainforest has an important effectlenclimatebecauseit covers such g
large area. ((xdle =il — s N o) Jsag ol 1)
Question Number FOUR (8 points)
A.
( 6 points)

1- It must bethe postman — he always comes at this time.
2- The roadsnight be very busy.

B. Disagreement



Question Number Five (15 points)
A: EDITING: (4 points)

1- trunks 2- seeds 3- Also 4- thorns
B. GUIDED WRITING: (4 points)

- Firstly, there are mangeasons that make animals usually migratesuch as_finding
enough foodand_raising their young.

- In addition, there are otheeasons that make animals usually migratdike finding
temperate weather.

FREE WRITING: ( 7 points)

Best Wishes
Ali Dagamseh
077211111 6%waldll 5 ga o -alac|
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Read the following text carefully, and then in yourANSWER BOOKLET answer
all the questions that follow it. Your answer shou be based on the text.

It may seem very strange, but plants are alwagsinger from animals which want {p
feed on them. If this happens, the plant can beadach or even killed. So, because thlir
roots, trunks, leaves, flowers, fruits and seedswrder constant attack from mammgjs,
insects or birds, plants have developed ways deptimg themselves from these enemis
like sharp thorns and stingsoison insects, sticky gum

Some plants which grow in dry climates, for examgdetuses, store large quantitips
of water in their stems. To protect themselvesy thave sharp thorns. Animals will hu
themselves ifthey try to get to the water from these plants. Othlants, like stinging
nettles, can ‘inject’ painful or irritating substaas into their enemies by means of the shprp
hairs on their leaves.

There are many plants which protect themselvesdgoping their enemies. In son
cases the poison they contain is so powerful then kill any living thing which touches g
eats them. The poison can be in the leaves, tlis sgderries, or in other parts of the plapt.

Some acacia trees in hot African countries are egtet by ants which live
permanently on their branches. If an animal staresat the tree’s leaves, the ants attack if.

Some plants, such as horse chestnut trees, areedowgth a sticky substance, liKp
wet paint, which can prevent insects from eatirggrthSometimes this substance is so strfpng
that insects’ feet or wings get stuck and they ocaescape.

Question Number One ( 20 points)
A.
1- Plants have developed many ways of protectiegnsielves from animals. Write do
two of these ways? (4 points)
2- Poison can be found in many parts of the plamsite down of these parfp?
(4 points)
3- Quote the sentence which indicates that sonas treAfrica are protected by insects.
(3 points)
4-What does the underlined pronouhey" in the second paragraph, refer to? (2 s0i
5-Find a word in the first paragraph which me&main parts of large stems of trees”
(2 points)

SEE PAGE TWO..
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B.Critical Thinking (5 points)

1- According to the text, the writer thinks thatupls are always in danger from ani
Explain this statement, justifying your answer. (3 points
2- Plants and insects help each other in order tavairdiscuss this statement and write
own point of view on two sentences. Write downdhswer in your ANSWER BOOKLET.

Question Number Two (15 points)

A. Study the following dictionary entry and answerthe question that follows, then write
the answer in your ANSWER BOOKLET. (3 point)

1- People living near the bus statjut up with a lot of noise
What does the underlined multi-part verb mean is1 sentence?

B. Complete the following sentences with the suitédwords derived from the words in
brackets and write the answers down in your ANSWERBOOKLET. (4 points)

1- It has been a year for the tea industhsgster)

2- Storms caused the of most of the crogesifoy)

C-Choose the suitable item from those given to cortgie each of the following sentence
and write it down in your ANSWER BOOKLET. (8 points)

case, devastating, global, consumption, rain

1- Increasingly, some Soya beans are also beingdunto food for human

2- The judge in charge of the carried all higwiments in a black leather
case.

3- A place where it doesn't over many ydas a dry climate.

4- Deforestation is having a effect on natpopulations.

SEE PAGE THREE...
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Question Number Three (20 points)
A. Correct the verb between brackets, then write yor answer down in your
BOOKLET. (6 points)

my homeworKor two hours and haven't finished yet. (write)

2. By the end of the earthquake, most of the diyiklings destroyed
(be)
3. My sister from university last semesfgraduate)

B. Combine each pair of sentences below into one arengful sentence,_using
suitable given words and phrases in_the box bellaw/Vrite the answers down in you
ANSWER BOOKLET. (6 points)

1- We should stop burning coal and oil. It cantissamore global warming.

in order not to in order to

2- Sea levels will rise. The polar ice is melting.

lead tc so that
Question Number FOUR (8 points)

A. Write sentences which explain the possibilitiesf the following statements including
the suitable modal verb phrases in brackets in thbox. Write the answers in your
ANSWER BOOKLET. ( 6 points)

must have can't have might have

1- Laila said she would phone you, but she ha¥iwti are sure she has not forgotten.

B. B. Read the following mini-dialogue carefully, hen answer that follows, write the
answer in your ANSWER BOOKLET. (2 points)

Rami- | can't study these days?
Ali:- you should sleep earlier and arrange your tine.
Which sentence indicates to advice?

SEE PAGE FOUR..
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Question Number Five (15 points)

A: EDITING: (4 points)

Imagine you are an editor in the Jordan Times, youare asked to edit the
following lines that have four mistakes._Find out hese four mistakes and
correct them. Write the correct answers down in YouANSWER BOOKLET.

dust which this produces can travel long distanceserdéisation can create
strong winds and dangerous wildfirez deforestation - the cutting down of
trees- also irode the soe.

B. GUIDED WRITING: (4 points)

Read the information in the table below then, in yar ANSWER BOOKLET, write
two sentences about the disadvantages of desert#tmn. Use appropriate liking
words such as : and, also, but

Disadvantages of deforestation
- raise the amount of carbon dioxide in the atmesph
- destroy habitats of many animals and plants.
- increase rates of soil erosion.
- affect the water cycle.

C. Free writing: (7 points)
In your ANSWER BOOKLET, write a composition of about 80 words on ONE
of the following:
1- You and your friend have gone on a school joytast year. Write a letter to
your friend in England, describing this journey,ntiening the places you have
visited, writing the activities you have done.
(Your nameNihad, your addres®.O Box 1646, Amman, Jordah

2- The Internet has become a very important soofcaformation in many

fields. Write a report for your school magazine w@bthe advantages and

disadvantages of the Internet, and suggesting adwvw to use internet wisely.
Best Wishes

Ali Dagamseh
077211111 64wadal) 3dga s -alas)
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Question Number One
A-
1- sharp thorns and stinggoison insects, sticky gum
2- The poison can be in the leaves, the seeds aebeor in other parts of the plant.
3- Some acacia trees in hot African countries aréepted by ants which live permanently
their branches.
4- Animals
5- trunks
b-
1- the plant can be damaged or even killed. So, Isectneir roots, trunks, leaves, flowers,
fruits and seeds are under constant attack frommadsy insects or birds,
2-This statement is true, because plants are protesz by insects from other animals
while insects live and eat from these plants. Forexample,Some acacia trees in hot
African countries are protected by ants which peemanently on their branches.

Question Number Two
1

A -to tolerate, accept, stand
B 1- disastrous2- destruction
C- - consumption 2- case 3- rain 4- devastating

Question Number Three

A- 1- have been writing 2- had been 3- gradated

B-

1- We should stop burning coal and oilarder not to cause more global warming.

2- The polar ice is meltingo thatsea levels will rise

Question Number FOUR (8 points)

A. ( 6 points)
1- Lailacan't haveforgotten.

2- Ali must have workedhard as an engineer while he was in the Gulf.

B . You should study in the morning / you must maketudy schedule




Question Number Five (15 points)
A: EDITING: (4 points)
1- Dust 2- wildfires 3- erodes4- soll

B. GUIDED WRITING: (4 points)

-Firstly, there are mangisadvantages of deforestatiosuch as raising the amount of
carbon dioxide in the atmosphered destroying habitats of many animals and plants
- In addition, there are othdrsadvantages of deforestatiofike increasing rates of soil
erosionand affecting the water cycle

FREE WRITING: ( 7 points)

Best Wishes
Ali Dagamsenh
077211111 6%wadall 38 50 s -dlac|
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Read the following text carefully, and then in yourANSWER BOOKLET answer all the
guestions that follow it. Your answer should be ba=d on the text.

The first paper was made from cloth nearly two #snd years ago in Ching.
Although paper can be made from all kinds of matsyisuch as cotton fibres, grass or sujpar
cane, these days wood pulp is .the material maostramnly used to make "new paper' - thfat
IS, paper which contains no old or recycled paper.

The modern world uses so much paper that envirotatisis have persuaded us thpt

we should recycle old paper as well as making napep There is an increasing awaren(pss
in Jordan of the need to recycle both paper andratiaterials. Paper-recycling containgys

can now be found in some parts of the country amdesgovernment agencies have begun
paper recycling programmes. Also, there is greatlercation in schools about the need|to
take care of our environment

Although we use wood pulp from trees to make nepepd is not true that recycling
paper saves trees. Trees are a commercially gromgiterm crop, so that when they are ¢ut
down, new ones are planted. Also, papermakershespdarts of trees that cannot be useq| in
other industries such as building and furniture imgkNearly all new paper is made fro
wood grown in sustainable forests.

A large proportion of household waste is paperandicoard. About half of this is
newspapers and magazines. Also, for every tonnpapér used for recycling, we sayle
30,000 litres of water, 3000—4000 kwh of electyicaind reduce air pollution. Despite ofyr
increasing dependence on information stored on ateng, there will always be a demaijd
for paper.

Question Number One ( 20 points)

A.

1- According to the text, the writer states tharéwill always be a demand for paper
despite our dependence on computers. Explaintdtisnsent, suggesting three uses of pajjer
in our daily life. (3 points)

2- Many kinds of substances are used to producerp¥yrite down four of these

substances. (4 points)

3- Quote the sentence which indicates that therexjggve us a piece of advice about the
importance of reprocessing paper. (3 points)

4- Find a word in paragraph two which meangsedple who try to protect the
environment" (2 points)

5- What does the underlined word ™ in paragraph three, refer to? (2 points)

6- There are many of advantages of reprocessingrpafyrite down two of thesd
advantages. (4 points)

SEE PAGE TWO...
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B.Critical Thinking (2 points)
Schools should encourage students to protect #mnronment by doing friendly
activities. Think of this statement and, in two teerces, write down your point of view.

Question Number Two (15 points)
A. Choose the suitable item from those given to cqutete each of the following sentencefp
and write it down in your answer booklet.

undercooked ,tiny, protect, waterfall, globe

1- The word means a flow of water from aeriwr stream falling from height.
2- The word that means the whole world or Earth.is

3- The word means to stop harm or damageytbr someone.

4- The appropriate opposite word of is theavbuge

B. Study the following sentence and answer the ques that follows, then write the
answer in your ANSWER BOOKLET. (3 point)

Taking another persorgsoperty is theft.

What does the underlined wor@roperty " mean?

C. Complete the following sentences with the suitéddwords derived form the words in
brackets and write the answers down in your ANSWERBOOKLET.

(4 points)

1- There would be a chaotic situation in societyhdre no (law)
2-The court left a man free because he had prdwace was (innocence)

SEE PAGE THREE...




PAGE THREE
Question Number Three (20 points)
A. Correct the verb between brackets then write youanswers down in your
ANSWER BOOKLET. (6 points)
Lol my leg recently, which means | can't §orgy this year. (break)
2. I'm really tired, but | can’t sleep at nightwish | sleep at night. (can)
3- My sister and her husband moved into a newafltie weekend. Before that they
with her husband's parents. (live)

B. Combine each pair of sentences bellow into oneeaningful sentence, using_the
suitable given words and phrases from the box belgwand write it down in your
ANSWER BOOKLET. (6 points)

1- People don’t want to forget important things. Peogtite notes in their diaries.

because, in orderto

2- Some people die in the desert. Shortage of fmabwater.

In order to, because of

Question Number FOUR (8 points)

B. Read the following mini-dialogue carefully, theranswer that follows, write the answe
in your ANSWER BOOKLET. (2 points)

Marwan:- What should happen to motorists who break tleedpimits?

Majid:- | think they should be banned from driving , puprison and fine them .
What is the function of Majid's statement?

B. Write sentences which explain the possibilitiesf the following situations using the
suitable modal verbs from the box. Write the answes in your ANSWER BOOKLET.
( 6 points)

must be cantbe mighthave

1- Malek was reading a book last night; he nevek ibout of his room. | am almost
sure that the book is somewhere in the room

The book

2- Salma has a very good English accent. | am ensbether Salma has lived

with an English family or not.

3- Marwan is almost sure that building bridgesas easy, they are complicated structure}.
Building bridges
SEE PAGE FOUR..
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Question Number Four (15 points)

B: EDITING: (4 points)

Imagine you are an editor in the Jordan Times, youare asked to edit the
following lines that have four mistakes. Find out hese four mistakes and
correct them. Write the correct answers down in youANSWER BOOKLET.

- Pullution is an increasingly serious problemjstcaused bynany human activitie
like insinerationin lantfill and combostedreas.

B. GUIDED WRITING: (4 points)

Read the information in the bar chart below then, n your ANSWER
BOOKLET, write a mini- report containing informatio n shown in the bar
chart below. . Use appropriate figures and percentges,

Percentage of Materials Recycle

City of Norman
5 Tl

2 5
Metals Glass Plastics Paper

C. Free writing: (7 points)
In your ANSWER BOOKLET, write a composition of about 80 words on ONE
of the following:
1- Car accidents happen everywhere and every Wnige a letter for your school
magazine mentioning the causes of such accidendssaggesting possible
solutions to reduce them.
(Your nameNihad, your addres®.O Box 1646, Amman, Jordah

2- Each one has a significant event that changed her life . Write about an event
changed your life positively or negatively , howl elere you , where were you , what
happened , how did you feel , who was involved et were the results of this
change ?.

Best Wishes

Ali Dagamseh
077211111 64%waldal) (38 ga o -alas|

On facebook
dwaldal) ety duth
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Question Number One
A-
1- | think this statement is true because we negxepin every fields of work and our lifig
such as documentaewspapeooks and notebooks for schaols
2- 1-clothes 2- cotton fibres 3- grass 4- sugaecs- wood pulp
(4 points)
3- The modern world uses so much paper that envieomalists have persuaded us that wig
should recycle old paper as well as making newmpape
4- environmentalists
5- that recycling paper saves trees.
6- 1- we save 30,000 litres of water. 2- we sav@360000 kwh of electricity3- reduce a
pollution to .
B- | think that students should can protect theiremment by doing many friendly activitief
such as collecting rubbish from the gardens are®tsr Also, they can recycle the paper gnd
other materials. In addition, they can plant soreed.
Question Number Two
A-
1- waterfall 2- globe 3- protect 4- tiny
B - - something that belongs to someone
C 1- legal4- innocent

Question Number Three
A. 1- have broken 2- could 3- had lived

B.
1- Becausepeople don’t want to forget important thingfsey write notes in their diaries.
2- Peoplewrite notes in their diaridsecausdhey don’t want to forget important things,

2- Some people die in the dedeecause okhortage of food and watelkall (=8
Because ofhortage of food and water, some people die inlésert.

Question Number FOUR (8 points)
A-
Expressing opinion.
B-
1- The bookmust be somewhere in the room.
2- Salmamight have livedwith an English family.
3- Building bridgesan't be easy, they are complicated structure.




Question Number Five (15 points)
A: EDITING: (4 points)
1- Pollution 2- incineration 3- landfill 4- compes.

B. GUIDED WRITING: (4 points)

Introduction 4eia
This report studiesthe percentage of materialsrecycled in the city of Norman in the
years 2008 and 2009.
Key facts 4w, (3ilia
e 2% of all metals were recycled in 2008 and 1%062
e 4% of glass was recycled in 2008 and 3% in 2009.
e 1% of plastics were recycled in 2008 and 0.5%00%2
e 5% of paper was recycled in 2008 and also in 2009.
e 1% of other materials were recycled in 2008 asd ai 20009.
Conclusion 4wl
The figures show that the percentage of materiaistwwere recycled has decreased
<l in 2009. It's a bad sign, proving that peoplelasing their enthusiasm for recycling.
O3y () o) S Al 3L Ledl 2009 A B 8 Ly 933 &3 Al gal) A o e das 218 Y1 -
5l agulas

Recommendation 4ua sl
With reference to the figures in this bar charyismnmentalists should use awareness-
raising campaigrs= i) & in order to highlighg<_:ll the importance of recycling.
s puall | ghliy Sde gl i EBlea | gaddion ¢ aag Al elale ¢ Sl o Hl) 8 &8 Y1 ) 52 salls -
sl el e

FREE WRITING: ( 7 points)
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Read the following text carefully, and then in yourANSWER BOOKLET answer all the
guestions that follow it. Your answer should be basd on the text.

The Eden Project, which opened in the year 200@ Iwing plant museum in the
countryside in the south-west of England. It iseayvopular attraction and millions of visitors
come every year to see plants from all over thddagnmowing in this special environment.

Some plants grow outside, but many are in speemllit domes, called ‘biomes’,
where the temperature and humidity are carefullptrodled. The biomes are like giant
greenhouses and one, the Humid Tropics biomeegitatigest greenhouse in the wotldis over
55m high and 200m long and contains many thousahetsotic plants not found in England.

One of the purposes of the project is to show hepeddent human beings are o
plants and to educate people on the importanceaesepving our natural environment. Asidg
from the plant life, the Eden Project has fasciminteractiveexhibits for people of all ages.
Many of the visitors are groups of school childr@ie Eden Project combines educationd
value with scientific interest and a huge varidtgpectacular plant life.

Question Number One ( 20 points)
A.
1- There are two qualities which make the Humidples Biome the greatest greenhouse in t
world. Write down them. (4 points)
2- The Eden Project has two advantages. Write dbem. (4 points)
3- Quote the sentence which indicates that theetrgumber of visitors of Eden Project arg
students. (3 points)
4- What does the underlined worleixhibits® mean? (2 points)
5- What does the underlined world™in the first paragraph , refer to? (2 points)
6- According to the text, the writer thinks thatrteen outdoor plants can be grown indoor i
supplied with suitable conditions. Suggest threthete conditions. (3 points)
B- Critical Thinking:-
The Eden Project increases the local economy ofaidg Think of this statement, and in twa
sentences, write down your point of view.
(4 points)

Answers- 1- It is over 55m high and 200m long and corgaimany thousands of exotic
plants not found in England. 2- to show how depetdeiman beings are on plants and tjp
educate people on the importance of preservinghatural environment. 3- Many of the visitors
are groups of school children. 4- show, displayrbe Humid Tropics Biome 6- temperature
humidity, soil, sunlight, water.

B- | think that the visitors come from all over thwrld and pay for tickets. Also, they
will stay in hotels and have meals in restauramt@ddition, they shop in markets of England
All these activities increase the economy of Englan

SEE PAGE TWO...




Question Number Two (15 points)

A. Choose the suitable item from those given to cgrtete each of the following sentences and
write it down in your answer booklet. (8 points)
overcharged, reused, structure, soil , tempomobtect , climate

1- Most of Africa has a very hot, dry

2- Some plants grow well here even though the is poor and it hardly ever rains.
3- Alidoesn'twant a....................... Job — he wants aieas career as an engineer.

4- We must do something about climate change to................ our way of life.

5- We thought the restaurant bill was too high. Wése right — the waiter had

6- I'm not going to throw my mobile phone away. Ifjning to send it to another country
whereitcanbe .......................
7- The word means building.
Answers- 1- climate 2- soil 3- temporary 4- protect
5-overcharged 6- reused 7- structure
| undercooked ,tiny, protect, waterfall, globe

1- The word means a flow of water from aeriwr stream falling from height.
2- The word that means the whole world or Earth.is............

3- The word means to stop harm or damagegtbr someone.

4- The appropriate opposite word of ................is thedvbuge.

B. Study the following sentence and answer the quem that follows, then write the answer in
your ANSWER BOOKLET. (3 point)
1- When he started criticizing my work, | reaigw red

What does the underlined colour idiom saw red mean?

2- Although the old man was rich, he was vergan

What does the underlined word mean mean?

3- Scientists have jusbme up witha new way of reprocessing plastic .
What does the underlined three — part phrasal e@ne up with mean?

4- | spilt tea on my homework, so | hadréwrite it.

-what does the underlined prefpe] mean in the sentence?

5- I misheard you. | thought you said we’d meet at 9 o’kloc

-what does the underlined prefixis) mean in the sentence?

6- The shop assistant must hawercharged you.

-what does the underlined prefixic) mean in the sentence?

7- The potatoes are too hard to eat. We obvioustiercooked them.

-what does the underlined prefixnder) mean in the sentence?

Answers- 1- got very angry 2- not generous 3-found, disced,

4= (re = agains_a)3«) 5= (mis = wrongly or badbyhls sl ¢ o JS)

6- over = more 7- under = less

Rewrite the underlinedumbers in these sentences as phrases.

1- There ar@5 students in my class.

2- The school was openedlif75

3- The address of the schoollig, 10th Avenue

4-There are abodut, 750students in my school.

Answers- 1- twenty-five students 2- nineteen seventy-veseventeen the Tenth
Avenue 4- one thousand , seven hundred and fifty 5-

Rewrite the underlineghrasesin these sentences @smbers.

1- My brother was born itwo thousand and four.

2




2- | scoredseventy-six percentn my English exam.

3- There were two world wars the twentieth century.

4- The population of Egypt is aboggventy-fivemillion.

5- There ar@ hundred centimes in one Algerian dinar.
Answers:- 12004 2-76% 3- 20th century4-75.000.00(-100

C. Complete the following sentences with the suitdwords derived form the words in
brackets and write the answers down in your ANSWERBOOKLET. (4 points)
1. Because there was no clean water , ... .o spread very quickly through the population
(infect)
2. Some trees are protected by ants which live on their branches. ( permanent)
3. The people left their city because of .................thaty (volcano)
4. Many people believe that is one of the sta@rimes. (violent)
5. The patient 's surgical operation was ....................g&o(successful)
6-. Some human activities are the naturatlek (destruction)
success of the 1960s and 1970s wraded by oil.( economize)
8- Person is until someone proves that @eyguilty. (innocence)
9- Many people emigrated to the Arabian Gulf aitier success. economize
10- The man was found of any crimes. @ioence)
11. Some countries faces serious problenfsconomically)
12. An earthquake is considered a natural ..............(disastrous)
13. We must the natural resources of @untry.  (development)
14- There would be a chaotic situation in sociétizére no system (law)
15-The court left a man free because he had prinatche was (innocence)
Answers- 1- infections 2- permanently 3- volcanic 4- @nte 5- successfully 6- destroying 7-
economic 8- innocent 9- economic 10- innocent tbhemic 12- disaster 13- develop. 14- legal
15- innocent

Question Number Three (20 points)
A. Correct the verb between brackets then write youanswers down in your ANSWER
BOOKLET. (6 points)

1. What have your friends and members of your fiamil recently? (be , do)

. mere players last year; but now have become more organized. (be)
3. I've never getting a driving testy)
4. The streets are very dirty. | wish they dirty. ( not be)

her relatives once before streanhin with them in 2006. (visit)

Answers- 1- been doing 2- were 3- tried 4- weren’t 5- Wégited

kkkkkkkkkkkkkkkkkkkkk

-rAgila) Jaa
1- Every country its own code of law ovemigweds or thousands of years.
(develop)
the law — they should be punish{bdeak)
of the sea. He’s been swimmmith his friends.( come out)
a family meal. They've beefebeating Zaid's graduation. (have)
She has been buying foodh&rfamily. (be, shop)

6- He has just come off the football pitch. He has............ football. (be, play)
7- She has just come out of the library. She has........... research for a school project.(be
do)
8- They have just finished work. They have ........... ncei 8 o'clock this morning. (be, work)




9-The paramedic has been helping the man. He’s ....on.the pavement for a few
minutes.(be, sit)
you ever to play a musical instrunieftearn)

a holiday yet this year? Yes,wggust come back from Agaba. (have)
12- I've started learning the mizmar, but I'veynl............. for a few weeks. (be,play)
13- James was very nervous when he arrived aitpert because He never
before.(fly)
14- Eman didn’t feel very confident about takirey driving test because she
(fail)
15- Faisal found it difficult to get up this mongi because he late the night before.
(work)
16- Zaid couldn’t contact his brother, Rakan bsede phone off. (switch)
Answers- 1- has developed 2- have broken 3- has comé-duve had 5- has been shopping
6- been playing 7- been doing 8- been working @nlstting 10 have learnt 11- have had 12-
been playing 13- had flown 14- had failed 15- hantked 16- had switched

B. Combine each pair of sentences bellow into oneeaningful sentence, using the suitablg
given _words and phrases from the box belowand write it down in your ANSWER
BOOKLET. (6 points)

1- | went to the post office. | want to buy stamps.
( because) (so that) (in order to, to , so as to)
| went to the post officeecausd want to buy stamps.
| went to the post officeo that| could buy stamps.
| went to the post officen order to buy stamps.
| went to the post office buy stamps.
| went to the post officeo as tabuy stamps.

2- Sultan went to the airport. He had to meet his tother Khaled.
( because, so that, in order to)
Sultan went to the airpobecausehe wanted to meet his brother Khaled.
Sultan went to the airpotd meet his brother Khaled.
Sultan went to the airpoirt order to meet his brother Khaled.
Sultan went to the airposb _thathe could meet his brother Khaled.

3-People write things in their diaries . People dothwant to forget important things.
( because, so that, in order not to)
-People write things in their diariéecausehey don’t want to forget important things.
-People write things in their diari@s order not to forget important things.
-People write things in their diarigs thatthey can't forget/ don’t forget important things.

4- Scientists are trying to produce new fuels. Petgcan continue to use their cars
without damaging the environment. ( so that)

- Scientists are trying to produce new fuels so Beople can continue to use their cars
without damaging the environment.




Question Number FOUR (8 points)

A. Write sentences_which explain _the possibilitieof the following situations using the
suitable modal verbs from the box. Write the answes in your ANSWER BOOKLET. (6
points)

must cant migh
1- Rami is not usually this . | am unsure whetieegot stuck in heavy traffic or not.

2- Zaid has worked very hard. It is certainly thathas got good grades

3- Faisal’s car lights were on all night. | 'm stiat he forgot to switch the lights off.

4- Sultan’s looking at the engine of his car. pt'ebably that his car broke down.
Y1 ]2 ST - 1
5-Tareq wants to be a teacher when he gradudtaswl he is very interested in education.

6- Ali has just drunk two litres of water. | am suhat he was very thirsty.
7- Sami bought an expensive car . | am sure heseprite a lot of money .
8- They have black skin, | am sure that they cammm fsomewhere hot like Africa.

9- | am sure that they haven't finished their luatteady - they only started eating five
minutes ago.

must be cant be might ha

10- Malek was reading a book last night; he newek it out of his room. | am almost sure
that the book is somewhere in the room

11- Salma has a very good English accent. | amranshether Salma has lived with an
English family or not.

Answers- 1- might have gotten stuck in heavy trafficn24st have got good grades.

3- must have forgotten to switch the lights off dight have broken down. 5- must be very
interested in education 6- must have been thirstynust earn a=quite a lot of money

have come 9- can't have finished their lunchaay.

10- The book must be somewhere in the room. 1In&ahight have lived with an English familj.
14- Building bridges cant be easy, they are corapsit structure.




B. Complete the following mini-dialogue using an gxession that and write
the answer in your ANSWER BOOKLET. (2 points)

1. Complete the following mini-dialogue using an gxession that_presents argument
Marwan:- Do you think companies should allow theiremployees to use work computers for
their own purposes?aalill agual &Y Jaadl cul ga Jlasiuly Wil gal pand O S &N o o) diias Ja -
Sami:- The main argument against this idea is thaethployees will waste~=: their time.

2. Complete the following mini-dialogue using an gxession that_express opinion
Marwan:- In your opinion, how can migrants benefit theisty in which they live?
b Glaad o) aaianall (e s paleall O 5S O Sy S el
Sami- | think the migrants can develop and improve ynfgds and jobs like industries and
agricultures and constructions.
lelii¥ s de ) 3l cilelicall Jie caill g 5 Ve 3ac (s shai agilSaly (o)) aie ) -
3. Complete the following mini-dialogue using an gxession that_express opinion.
Marwan: In your opinion, how can't migrants benefit tlogisty in which they live?
4 it (oAl aainall a2 (5 algall 58 () (S S ey
Sami :- | think the migrants will work in many jobs amrks and this leads to unemployment
between the native people in my country.
sl G pubia¥) GG s Adad) ) g2 13 5 Jlee ) 5 ailda g 8ae () slaman (p jaleal) ) Sdie )

4. Complete the following mini-dialogue using an gqession that presents suggestion.
Marwan:- -There are very few public places in your towimene people can go to keep fit.

el e Aaila ol Cladl) Ul Say Gy Slialy 8 Aalall SV (e J) llia -
Sami- | suggest # that the government should build and establish pasks and gardens in all
areas.
5. Complete the following mini-dialogue using an gession that presents suggestion.
Marwan:- Very few tourists come to your town because tkeyw nothing about it.

Leie Ul 058 ymaY agdY lialy ) iy o lndl (pe 81 i -

Sami- | suggestz s#lthat we must make special webgites!l &2 s on internet to introduces =3
the historical and natural places to the tourists.

6. Complete the following mini-dialogue using an garession that presents suggestion.
Marwan :- In some parts of Africa, desert areas are baugigreen again. What can be done to
slow down the process of desertification and spgethis greening process?
@w;M\@&MdﬁM&ﬂ\u GSAIB e el s d;ﬁg\:\}\M\‘f.bb‘)f\ Ly ) c\j;\u'a:_}‘;—
i) dalee
Sami- | think there are many ways to stop the desadtiacrease the plants such as building da
asaa4ll ¢l planting the trees around the agricultural aeeas) =Y Jss Jad¥ ae) ), fining
people=aiY! a2 who cut down trees or overgraze their animals.
7. Complete the following mini-dialogue using an garession that presents opinion.

Marwan :- How and why do you think human beings are depehdn plants?

QQL\L\.J\ é&; Jﬁn,\j\ Al \.JLAS} LJ:\S claleie | -
Sami- | think that human beings are dependent on plaomtmany purposes like food,
medicine s, tools=l sl and structure (building)w.




8. Complete the following mini-dialogue using an gxession that_presents opinion.
Marwan: - What is a greenhouse? Explain why ‘greenhoaseg have been given this name.
T ) iy Cupans 38 "800 ) D) " 13l jud € s 1 o) 8 La -

Sami:- In my opinion, greenhouse is a structekefor growingie !, 3! vegetables and plants, and
this greenhouse keeps+>: the heat in it)_~l. So the green house gases do the same thing by
keeping the heats in the Earth.
9. Complete the following mini-dialogue using an garession that presents opinion.
Marwan:- What is the main purpose of sending people igopr to punish them or to protect
SOCiety % asina dleal ol agidlaal da (sl ) Galaid¥l el (o asti I Ciagll L
Sami- | think we send criminals to prison to protdw society from those criminals , if we don’t
do that , these criminals will commit new crimesiagt the innocent people and there will be mg
chaos between people .
10. Complete the following mini-dialogue using anx@ression that_presents opinion..
Marwan:- Do you agree that without laws ‘there would baas’? How do you think people woul
behave if there were no laws?

Toa) s s s ate Jla (8 Gl G pais @)y S €z o clllia ()5S Gl 58l (520 43k (381 53 s -
Samk | totally agree with you, because without lavire will be more crimes against people.
Also, people will not feel safe because of the shao
11- Complete the following mini-dialogue using anx@ression that expresses regret about
inability .
Marwan: You can't go with us to The Dead Sea.
Sami. | wish | could go with you.
12- Complete the following mini-dialogue using anx@ression that describe this photo
Marwan: Where is the small tree located?
Sami. The small tree is in the middle of the picture.

Question Number Five (15 points)
B: EDITING: (4 points)

A probortion of the populetion may stay alive iethemegrate to any country, especially engl
1- proportion2- populatior3-emigrate4- England

during the next two years, 350,000 people diedarivation and there was a huge
increaze in emgratic to America

1- During 2- starvation 3- increase 4- emigration

B. GUIDED WRITING: (4 points)

What are the results of desertification?
- destroy the soil.
- produce dust.
- lead to dangerous wildfires.
There are mangesults of desertificationsuch as destroying the soil and producing
dust. Also, there are other results like leadinddngerous wildfires.

Using public transport
Arguments for reduce traffic jam, economi¢
Arguments against consume time , inconvenie




- There are many arguments for using public trarispech as reducing traffic jam and
it is economic. On the other hand, there are magymaents against using public
transport like consuming time and it is inconvehien

The importance of recycling materials
- stopping pollution
- saving energy
- producing electricity
-Firstly, there are many advantages of recycling marials such as stopping pollution and saving
energy.
-On the other hand, there are other advantages ofcycling materials like producing electricity.

C. Free writing: (7 points)
In your ANSWER BOOKLET, write a composition of about 80 words on ONE of the
following:
1- Car accidents happen everywhere and every tifréde a letter for your school
magazine mentioning the causes of such accidedtsw@ygesting possible solutions to
reduce them.
(Your nameNihad, your addresP.O Box 1646, Amman, Jordah

2- Each one has a significant event that changed lirer life . Write about an event changed
your life positively or negatively , how old werewy , where were you , what happened ,
how did you feel , who was involved and what wére tesults of this change ?.

3. Many young people look forward to immigrate doefign countries. Write an essay about
the advantages and disadvantages of emigration.

4. There are few public places in your town whexegbe can go to keep fit. Write a letter to
a local newspaper making recommendation whiigfhinhelp to solve this problem.
(Your name is Wisam Ali. Your address is P.xxB646. Amman, Jordan )

5- There are so many important historical sitedondan. Choose one of these sites
which you have visited lately and write abouthbwing how we, as Jordanians, could
play a main role of promoting such sites to others
Osallad) iy b daadl g
Ali Dagamseh
077211111 64wmaldal (3890 Ao -2lae|
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